
https://www.geekcert.com/c_paii10_35.html
2024 Latest geekcert C_PAII10_35 PDF and VCE dumps Download

 

 

 

C_PAII10_35Q&As

C_PAII10_35 : SAP Certified Application Associate - SAP Predictive
Analytics

Pass SAP C_PAII10_35 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/c_paii10_35.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

 

 

C_PAII10_35 PDF Dumps | C_PAII10_35 VCE Dumps | C_PAII10_35 Practice Test                                1 / 3

https://www.geekcert.com/c_paii10_35.html
https://www.geekcert.com/c_paii10_35.html
https://www.geekcert.com/c_paii10_35.html


https://www.geekcert.com/c_paii10_35.html
2024 Latest geekcert C_PAII10_35 PDF and VCE dumps Download

QUESTION 1

In the large majority of cases, a first degree polynomial is sufficient for generation of a relevant and robust model. Using
a higher degree of polynomial does not always guarantee better results than those obtained with a first degree
polynomial. In addition, the higher the degree of polynomial you select: 

Note: There are 3 correct answers to this question. 

A. The more time needed to generate the corresponding model 

B. The more time needed to apply the model to new datasets 

C. The harder it is to interpret the results of modeling 

D. The server pass phrase (optional) 

Correct Answer: ABC 

 

QUESTION 2

Once your business issue has been identified and formulated, you need to have data on hand that will permit an answer
to be found. In order for your data to be usable by the application, the following five conditions must be met: 

Note: There are 5 correct answers to this question. 

A. You must have a sufficiently large volume of data to be able to build a valid model, that is, in order for the model to be
both relevant and robust. An analytical model that is generated from a dataset of 50 lines may have low generalization
capacity, and contain low informative value. We can advise you on the issues of data volume. 

B. Your dataset must contain a target variable, that will allow you to express your business issue within the application. 

C. The target variable must be known for each observation of the training dataset. To express this another way, no
target variable values may be missing over the range of the entire training dataset. 

D. The data source format must be supported by the application. 

E. Your data must be presented in the form of a single table of data , except in instances where you are using Event
Logging or Sequence Coding features of Data Manager. 

F. Server instances are going to be started with a different system account than the authenticated server. 

Correct Answer: ABCDE 

 

QUESTION 3

Once the model has been generated, you must verify its validity by examining the performance indicators: 

Note: There are 2 correct answers to this question. 

A. The predictive power allows you to evaluate the explanatory power of the model, that is, its capacity to explain the
target variable when applied to the training dataset. A perfect model possesses a predictive power of 1 and a completely
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random model possesses a predictive power of 0. No minimum threshold is required for the predictive power of a model.
This depends upon the context of your work, that is, your domain of application, the nature of your data and your
business issue. 26 P U B L I C Automated Analytics User Guides and Scenarios Modeling Concepts In some cases, a
model with a predictive power as low as 0.1 may allow realization of a profit of several thousands dollars. In all cases, a
positive predictive power indicates that the model generated will perform better than a random model. 

B. The prediction confidence defines the degree of robustness of the model, that is, its capacity to achieve the same
explanatory power when applied to a new dataset. In other words, the degree of robustness corresponds to the
predictive power of the model when applied to an application dataset. A model with a prediction confidence inferior to
0.95 must be considered with caution. The performance of such a model is very likely to vary between the training
dataset and the application datasets. 

C. The environment variable definition is using the POSIX standard shell sh semantic, which first defines the variable,
then exports it. To guarantee a proper functioning, The environment variable definition is using the POSIX standard
shell shsemantic, which first defines the variable, then exports it. To guarantee a proper functioning, 

Correct Answer: AB 

 

QUESTION 4

The application allows you to refine a currently open model. For instance, you can: Note: There are 2 correct answers to
this question. 

A. Reduce the number of explanatory variables used by the model while maintaining the initial quality 

B. Generate a model of degree 2 using the most significant variables of the degree 1 model. 

C. The server port (by default: 12347 for the authenticated server) 

Correct Answer: AB 

 

QUESTION 5

The analytics are generated during a phase called the training phase, using a training dataset. Depending on the
situation, the training dataset may be cut into three sub-sets: 

Note: There are 3 correct answers to this question. 

A. A Training sub-set. 

B. A Validation sub-set. 

C. The proper TCP port, 

D. A Testing sub-set 

Correct Answer: ABD 
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